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QUESTION 1

Which type of view allows a user to create a view to provide tabular data about specific objects? 

A. Distribution 

B. Text 

C. List 

D. Trend 

Correct Answer: C 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/8.0/com.vmware.vcom.core.doc/
GUID-6EA000E9-0127-45A3-AF31-322EDCFB9EC8.html 

 

QUESTION 2

Refer to the exhibit. 

How is vSphere Usable Capacity calculated? 

A. Demand plus Reservation 
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B. Total Capacity minus High Availability 

C. Total Capacity minus Overhead 

D. Demand plus High Availability 

Correct Answer: B 

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-6/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-85FCA01D-D667-4962-B37C-165F7CA1885E.html 

 

QUESTION 3

Performance optimization moves virtual compute resources and file systems dynamically across datastore clusters
within which space? 

A. data centers 

B. resource pools 

C. networks 

D. vCenters 

Correct Answer: A 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/8.0/com.vmware.vcom.core.doc/
GUID-9B27A50B-97AD-4B89-89D3-7BB515BD7394.html 

 

QUESTION 4

Which compliance standard is pre-installed in vRealize Operations? 

A. Payment Card Industry (PCI) 

B. vSphere Hardening Guidelines 

C. Health Insurance Portability and Accountability Act (HIPPA) 

D. The Federal Information Security Management Act (FISMA) 

Correct Answer: B 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/7.5/com.vmware.vcom.core.doc/ GUID-
F68DEC42-80F0-4638-8508-1EACF6564451.html 

 

QUESTION 5

In which two locations should all nodes be when deploying an analytics node? (Choose two.) 

A. same data center 
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B. same vCenter 

C. remote data center 

D. same subnet 

E. different subnet 

Correct Answer: AD 

 

QUESTION 6

Where is the Resource Interaction XML created? 

A. Policies 

B. Access Control 

C. Object Relationships 

D. Metric Configurations 

Correct Answer: D 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/7.5/com.vmware.vcom.config.doc/
GUID-77DB5870-DBD9-4646-99F9-B4B144FB6786.html 

 

QUESTION 7

Refer to the exhibit. 

Active Alerts exist for the object base-w12-01. Why are no alerts showing? 

A. base-w12-01 alerts are acknowledged by another user 

B. base-w12-01 alerts are owned by another user 

C. only alerts for base-w12-01 are seen in the Environment tab 
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D. an incorrect filter is applied 

Correct Answer: B 

 

QUESTION 8

Which type of grouping enables collecting similar objects and grouping the objects logically by tier? 

A. role-based 

B. dynamic 

C. application 

D. manual 

Correct Answer: C 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/7.5/com.vmware.vcom.core.doc/ GUID-
A7BE459E-4CFA-469F-8FF8-BC34E40D2C12.html 

 

QUESTION 9

Which Operational Intent setting drives maximum application performance by avoiding resource spikes? 

A. Moderate 

B. Consolidate 

C. Over provision 

D. Balance 

Correct Answer: B 

 

QUESTION 10

Refer to the exhibit. 
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A user has installed and configured Telegraf agent on a Windows domain controller. No application data is being
collected. 

Which two actions should the user take to see the application data? (Choose two.) 

A. Verify the vCenter adapter collection status. 

B. Re-configure the agent on the Windows virtual machine manually. 

C. Verify Active Directory Service status. 

D. Configure ICMP Remote Check. 

E. Validate time synchronization between vRealize Application Remote Collector and vRealize Operations. 

Correct Answer: AE 
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